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Check the question papef for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw

diagrams.

Comauwrer @Lsde uLLD UETHE FLEUTHSMET T(PSaLD.

Draw diagrams arid write equations wherever necessary.

(i)
(i1)

(i)
(i)

oimansg AaEaEEEED el wefiésa]l.
Qar@ésiiul_Herer wmHn el safle Nsayb ghymL edllamLemws
Coib0s0s56 GHMILALar alloLblomanyd Gairggl eT(PSQLD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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Geraumeuareumme o [
UMHaIeeuDmet 61g ,.cgq%\,,,_,n]_.q;,, Blenmammn mexmL',(:'If”Wmmm"@m ?

(=) CuH
ik, (<8)) CqHy,

(@) CH - -
& s () @evanuemarggno

Which of the following is aliphatic s:
(a) CoHyg
(c) CeHyq

wturated hydrocarbon ?
(b)  CyH,,
() All of the above

swCuwreord NaCl whmd KCl senyadser suimflaes (ol e NaCl senggeilen

S@phle® -2°C aaflld KCl sorsddn ariruntasiu@n e-enplene gt :
(=) -1°¢ (<) —2°C (@) oc () —4°C

qu-timolfil aqucous solutions of NaCl and KCl are prepared. If the freezing point
of NaCl is ~2°C, the freezing point of KCl solution is expected to be :

(@) -1°C (b) -2°C (c) 0°C (d) —4°C

2 O@sd QerEdsaiar +1 elaamellen sflwmer QUSL @ aflos :
(=) —C(CHy); > —CHI(CH,), > —CH,CH, > —CH,

(<) —CH; > —~CH,CH, > —CH(CH,), > —C(CHj,),

(8) —CH,CH; > —CH, > —C(CHS)'3 > —CH(CH,),

(/) —CH(CH,), > —=C(CHg)3 > —CH,CH, > —CH,

The correct relative order of +1 effect of alkyl groups is :

() —C(CHg); > —~CH(CH,), > —CH,CH; > —CH,

(b) —CH,; > —CH,CH,; > —CH(CH,), > —C(CH,),

(c) —CH,CH; > —CH, > —C(CH;); > —CH(CH,),

(d) —CH(CH,), > —C(CHg); > —CH,CH; > —CH,

0°C wpmib 1 atm 2j(ps554le 7.5 g euryy 5.6 L sar yerena D555 Qasrrsh@fn
erafleh Sibg eumy :
(<) CO (<) NO (@) co, (F) N,0

7.5 g of a gas occupies a volume of 5.6 L at 0°C and 1 atm pressure.
1S : ‘ :

(a) CO (b NO (c) CO, @ N0

The gas

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
XI - MAY 2022

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


Xl - MAY 2022 3

5. Sapo : GuonGearr GapGear ifersala, s grer saururmer LSS
aevar oy iaCar whmid uryr GLrisafld Blapdlpg.
STEwTLD anremeT Digeirag alemeny daria| Hidl.
(<) sapmy &l e SNrewID Heum),
(<) Sap@I HOID SMrewnd @rem@d s, Gogib sMyeones) saDBIDE@ sflwren
NaTEHD (G LD.
(@) s=pm WHYD SMTERTD Qram(in Seun.

(F) Sabml PN SMewTd @ramBid M. e sryewToneng spHinE silwmer

elleT& S0 e.
Assertion :  In monohaloarenes, electrophilic substitution occurs at ortho and
para positions.
Reason : Halogen atom is a ring deactivator.

(a) Assertion is true but reason is false.

(b) Both assertion and reason are true and reason is the correct explanation of
assertion. '

(c) Both assertion and reason are false.

Both assertion and reason are true but reason is not the correct explanation

of assertion.

(d)

6. Garaumid SereiPsafler QUTBHETELD FITT LG :

(1) eramgmed (<) pleop

(@) ﬁ]mm/a;w.@imm (rF) Sanieney
The intensive property among the quantities below is :
(a) enthalpy (b) mass

(c) vzi:e (d) volume

[ HwLys / Turn over
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eﬁgpé;a;e%m.mﬁmﬂd; or&l aflwimen FDMl ey 7

(<) QS]GO’JGBTLL;LE'S@IUH'GBT@
() sufloale o dear

(Q)
(FF)

: G!UTGGNI'I' ] " : (e . @{GTTQS]GD
LmEdELo. & 5@ whmid GenGenra@ ellenansenar FL0

@O AdwLYGHE@ Q-ar whHUY rIGUTg LD gwhlene
. DAITE @md@Lb.

Qaiufeaudsmar Qummég swflenad el wAHLLEE TYUGLD.
Hevamn 8o L1858l gL Fwhleoulemearn SienLweD.

wrilelenu el G

Which one of the following is incorrect statement ?

(a)

presence of catalyst affec

: ts both the forward reaction and reverse reaction
o the same extent. .

(b) for a system at equilibrium Q is always less than the equilibrium constant.
(¢) equilibrium constant varies with.tempcrature.

(d) equilibrium can be attained from either side of the reaction.
Qurméss.

(1) —-NO, (1) yrdevwud

(2) -OcCH, (ii)  <OCer

(3) -CH,-CH,-CH, (iii) BssrHe

(4) -NH, (iv) eopl Gyr

(1) (1-(iid), (2)-G3i), (3)-(iv), (4)-(i)

(<) (1)-(iid), (2)-Gv), (3)-6i), (4)-(ii)

(&) (-6v), @), (3)-6), (4)-Gi

() (1)-(i), (2)-6), (3)-(iv), (4)-(ii)

Match the following :

(1) -NO, (i)  Propyl

(2) —OCH, (ii) Amino

(3) -CH,-CH,-CH, (iii) Methoxy

(4) —NH, (iv) Nitro

(@) (1)-(id), (2)-(ii), (3)-(iv), (4)-(i)

(b)  (1)-(iii), (2)-(iv), (3)-(3), (4)-(ii)

(c)
(d)

(1)), (2)-Gd), (3)-(i), (4)-(ii)
()-G), (2)-(), (3)-(iv), (4)-(iii)
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Gurllan eramg Spsaani ahs sy o Cansslear saflo apaio D 7
(<) lF&ub (<ay,) Gamgquib (@) mSiguib (rF) Qumirélub

Spodumenc is the mineral source for which of the following alkali metal ?

(a)  Lithium (b)  Sodium (¢) Rubidium (d) Potassium

. Epssreuaaidnd ag dsuis SCrpy dpows Csran(Hereng ?
(<) BaCl, (<24,) MgCl, (@) SrCl, (fF) CaCl,

Which of the following has highest hydration energy ?

(a) BaCl, (b) MgCL, (c) SrCl (d) CaCl,
. lefligwd &Lé@ QarerrHeaTerg).

(i) 1p+2n (<) 1p+0n (@) lp+1in () 2p+1n
Tritium nucleus contains :

(a) 1p+2n (b) 1p+0On (c) 1lp+1n (d) . 2p+1n

. Geneumevanaunfled 6Tg LW SThsSHenand CaTarLg ?
(21) 03 (<) 03

(8) O, () @eundled ergillerena

Which- one of the following'is diamagnetic ?

(a) 05 (b) ©OF

() O, (d) None of these
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13

14,

15.

+ Wy hd Hnwraed GCanpadr emswuem b eaeral :

(<) smdiLen eNenaray (<) Soem eflenaray

(@) evnig ofleneray (r) wensed feaaral

Splitting of spectral lines in an clectric field is called :

(@)  Compton effect (b)  Zeceman cffect

(c) Stark effect (d) Shiclding effect

Gwreiur GHmeou WP HCl @Hees @ram@id @ S GLpmi G

Qoarssiut @ @ran@n gy Gprsfe Apssuu@dapear. Geudrafp

wGwreflwb @Gammeny( suenemuib WET PS5 6TRIE e (HauTdlemgl ?
(=) @wCurafur GO eauwimEl e

() Gemden pOULEGSISD

(@) epmdar wuy forsSgib awwuns

() ean’ e ECarmar® GHoauwmSD

A bottle of-ammonia and a bottle of HCI connected through a long tube are opened

simultaneously at both ends. The white ammonium chloride ring will be first
formed : ' :

(a). near the ammonia bottle
(b) at the centre of the tube
(c) throughout the length of the tube
(d) mnear the hydrogen chloride bottle

9 : :
CHQ—ﬁ—CHE, LoHmILD CH,=C - CH <pFwenal
0 0®

(<t) paflspdmin wrppewiy () eLaflese) Siewlised

(B) eus SieLILGET () Qurug swBlened WwrHBlwid

o .
CHQ—C"’CHs and CH2=(E—CH3 are .
[

0 o
(a) optical isomers | (b) resonating structures
(c) conformers (d) tautomers
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U@# - I / PART - II

sLLmuwns elawaldasa]ib, 6x2=12

Note : Answer any six questions. Question No, 24 is Compulsory.

16.

17‘

Srmd swrer Hlevp ~ eueruUmIEHeyLD.

Define Gram equivalent mass.

L -2pped wiLHd srariu@b Adsuls aaslyransaan cramanflGensen
sesd(Hs. -

| Calculate the maximum number of electrons that can be accommodated in L

18.

19.

20.

21.

shell.

ey auswrar ssllmaniy emanlardsmar GHUKES.

Mention the three types of covalent hydrides. -

seanaflzans Qewdpeonssrar HLbsmansar wreal ?

What are the conditions for the spontaneity of a process ?

G]auﬂugglm @ﬂ)]pﬁl.’-@ BeoL(peppewl allers@s.

Explain sign convention of heat.

_ [NHg) [0
[NOJ* [H,0)°

swfleve M6 LI, Ke QararL @@ swHae dmassran

H@GHS e GFwiLLL Geudlgieruim e H(mHs.
Give a balanced chemical equation for the equilibrium reaction for which the

4 5

2 o . K_[N“s][ozl

equilibrium constant 1s given by €Xpression KRc = [NO]4 [H 0]6 A
2
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22. "gGerGLrals semrsdedr e QarHuBHHS asepPIEFel:

Define the term “isotonic solution”.

23. agdle GCarmenyenL eraueuy rEGoams wrpHmeurs ?

How will you convert ethyl chloride to ethane ?

24. Qemaumn elerarsear WisdH Qelis,

250°C

i) CH
(1) 6H5Cl+2NH, 50

(i) CoH5CI+2Na+Cl- CoHy —BT

Complete the following reactions

250°C

() CeHsCl+2NH; —2
m

(i)  CqHsCl+2Na +Cl—CgH; —Eher

ug,é,] - Il / PART - III

@My : mmm@w@[m QDI N TTES (658 aﬁleml__maﬂaasa.;m ellerm ereir 33 -&
SL_L_MULDTS G)SIGU)I_U_IGTHJB&G].{LB ; 6(23-18

Note : Answer any six questions. Question No. 33 is compulsory. -

25. Gamgl L gaflohsefdar oéallgnCanhn eramreen SeEE ().
i) co, (i) HpSO4
Calculate the oxidation number of underiined elements

(i) CO, (if)  HpSO4

26. eGTe&Lymen B LI — QUENTWIMIGESELD.
Define electron afﬁnitjr.
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28.

29.

30.

31.

32.

33.
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Lrorailer uGH @iwss eNdes g pis,

State Dalton Law of partial pressures,

QUY 3el ipssd @eopay wHidempa m samy@urmafldr Goreri Hlapenu
SRS o gQd QUMULILIN g e 6T(pg)s.

Write the formula to calculate the molar mass of a solute from relative lowering
of vapour pressure values.

HF fpaésan o maurgme <pidlLrd CupQuimpgsd apab eflauflésayb.

Describe the formation of HF molecule by orbital overlap.

gafl spHd IHHLD erémpme) erenen ?

What is meant by optical isomerism ?

sGmESQT LPND aesLFTar saif QurBLsEpsdaLCu 2 dar Gapur@se
epelenet &(hHs.

Give any three differences between nucleophiles and electrophiles.

agSedman @ellihs &LD, OB @urn_l_rr.sﬂu_rm G]urrmrw&.(%sm.@:_sm eflemeuii-
LESSLCUTE Bapag wrg ?

What happens when ethylene is passed through cold dilute alkaline potassium
permanganate ?

NH;, N, wpmb Hy dueapidlen sofleas daplase wperpCuw 1.8x1072 M,
1.2x 1072 M wpmib 3% 1072 M. Ny oppitd Hy G]EI]GIS](I_T)‘II)Q NH, 2 (heur@Lh edlenané s
soflera wrfleluflen wldenand &rairs.

The equilibrium concentrations of NH;, N, and Hy are 1.8x107% M,
1.2%X10"2 M and 3x 10~2 M respectively. Calculate the equilibrium constant for

the formation of NH, from N, and H,.
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UGSl - IV / PART - IV
GO : SyemenSg eNenmaa (@@L e wefldmaib.
Note : Answer all the questions.

5x5=25

34. (@) (i) n=4 -§g sngHuioren oA Lrdsaen eramalibens WG 7
(ii)  eplrmeflen eradlyrer el Hpb piaLmD aueyULSH@ET
(D&,
ATV
(<) @well YyrsHeear samLfund i wepudeer afleufGaayLD-
(@) (i) How many orbitals are possible for n=4 ?
(i) Write the electronic configuration and orbital diagram

OR
(b) Describe the Pauling method for the determination of ionic radius.

for nitrogen.

35. (=) () Quflewgder wramul L LaTLEEHES STTeRTD e ? _
(i) Gufelwb, S&GEHLUSHD 2 drer 151;0 g,enﬂmréjaserﬂaﬁl@ﬁggl Ceumu(o
TCa@b epam LTSS safl)s. -
EYEVEVE
(<) <186 g noelen fplndwdysener ellerses.

(a) (i) What are the reasons for the anomalous properties of Beryllium ?
(ii) Give any three properties of Beryllium that are different from other

elements of the group.
OR

(b) Explain the characteristics of internal energy.

36. (=) Gla;rré]ﬂsméu gon wiiysaladmbs samr@ummafer Cureri Blenpenw
ereueUTn Eartddl(Heumil ? '
' STV
(3)) UGS
(i) Qevemriiy Herid
(i) Genewrind Camentid
(iii) DenewriiL <Mmmed - B
(a) How will you determine the molar mass of solute from elevation of boiling
point ? ; :
OR
(b) Define :
(i) Bond length
(ii) Bond angle
iy Bond entialpy GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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37. (&) T@sLnar sauigdmn wHALGS@E sald@ainge ghupn Swed
serewiiean erateuny Hireemudiiimi ?

IV
() Gemeumib Gamorisense IUPAC gpeoptdd QUAGs.
() CHa~CH-CH-CH,
CHj Br
(i) CHy-O-CH,

(iii) CHz-CH,-CH-CHO
|
OH

(i) CH,=CH-CH=CH,

(V) CH3-C=C-CH-CHg
| .
Cl '

(a) How will you determine the ionic character in covalent bond using
electronegativity values ? :

OR

(b) Give the IUPAC names of the following compounds.

(i) CHy~CH-CH-CHy
|
CH3 Br

(i) CHy—O-CH,

(it) CHs—CH,—CH-CHO
I
OH

(v CH3-C=C-CH-CHj
|
Cl

A GREEN GARDEN MATRIC. HR. SEC. SCHOO
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38. (=) Quenfafeppg Sipssan Caiwnisamer eraeurg swmfliumi ?
(i) eoplGrr Quender
(i) Quenden soourals oeab
(ii1) BHC
S{6V6VG) _

(<) (A) eramp eraflu wpdder HCL o_Len eflevan g Gaob (B) -85 5@@@@-
Gugid (B) @pars ibGurelure)_er eleanyflbg C,H,N erem (po&s D
aumitium g ener e W (C) -mé smAg. (C) -wreng srranuedler edllenaTsE
o Lu®élmgl. (A);.(B) womid (C) -p& sear_ls.

(a) How will you preparé the following compounds from benzene ?

(i) nitrobenzene
(ii) benzene sulphonic acid
(i) BHC
| | OR

(b) Simplest alkene (A) reacts with HCI to form compound (B). Compound (B)
reacts with ammonia to form compound (C) of molecular formula C,H;N.
Compound (C) undergoes carbylamine test. Identify (A), (B) and (C).

-00o0-
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